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Sensor Type Voltagelnput
Measure Method SE

Input Range 0-62.5mV
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hMeazurement Interval Zet All Channe|
10min x) Active [ MUY |Voltszslput | [Differential v || £5000my  ~||OFF - | |oFF -
Sensor Marme  Activation Use MUK Senzor Type hMeazure Method Tnput Ranze  Preheat Woltaze Preheat Time
SET MLIO3 Oxyzan’ Active  [CIMUX [voltagelput v |[SineleEnd  ~| [0-625mv  ~||OFF ~ | [oFF -
SE2 MLIO3 Oxyzan2 Active [/ MUK [voltagelput v |[SingleEnd  ~| [0-625mv  ~||OFF ~| [oFF -]
SE3 MLJIO3 Oxyzen3 Active [/ MUK [voltagelput v |[SingleEnd  ~| [0-625mv  ~||OFF ~| [oFF -]
SE4 MLIO3 Oxyzand Active [/ MUK [voltagelput v |[SingleEnd  ~| [0-625mv  ~||OFF ~| [oFF -]
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MIJO3 Oxygenl
MIJO3 Oxygen2
MIJO3 Oxygen3
MIJO3 Oxygen4
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J| Active Physical Walue Calculation

‘Wariable

H00 =E1
002 ZEZ
HO03 ZE3
HO04 SE4
HOOS DIFF3
HOOT DIFF4
HO0% DFFS

Senszor MNarme
hALIDS Orevgenl

hALIDS Crevzen
WALIOS Crevzend
WALIOT Oieygend
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Activated Ch Zensor Mame

WIEFRE%/mV
0.4100
0.4098
0.4019
0.3943

=

X001%*0.4100
X002*0.4098
X003+0.4019
X004+%0.3943

Enter Any Waluelto Check Eq.)

Equation Hint

You can use functions as shown below.

4= UL ARSI ERPOO.INT (0SNG0, GOS0, TANG P

bALIOS Crevzend B -
MIJOZ Oiyzen? 51 =ome functions should to be input as shown right zide below,
LRGE = LOGEK)
MLIOS Oreyzens 52 = LoGiold) — LOGHLLOGI0)
WIJOD Creyzerd 53 LOG(<.A) — LOGR)/LOGLA)
SCRTIK) — SQR()
Senzors |3 POWERDYI— W™
[— = RADISMC) — P80
DEGREE() — X*180/P1
Senzord =] i
Equation Result
HOO1*0.47180 Check 208
HOOE* 0 4058 Check 20 8058
HO0Z#0.A015 Check 2083985
HO0Aw 0 2043 208070



